110.2 Add and subtract 2 fractions with the same Denominator

10.1 Add and subtract 2 fractions with the same 10.3 Starting at any given number, count forwards
denominator within one whole. Use the Maths : . and backwards in steps of any given number, Includ-
Lt oebcllcies ing through zero to include neqative numbers

K Fact File: fraction calcula-
L S tions, Don't forget
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Turn over two playmg cards to :“ - ) a
generate a start number: e
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Then turn over athirdcardand play |i'¢ ¢
‘ping pong’ with a partner by counting| ¢ ¢
on or back in that number. 0
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10.4 Double any number with up to 1 decimal place

Egdouble64=1238 <
Units Tenths

Double19=38

10.5 Halve any number with up to 1
orhalfof 7.3=3.65
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Use the Maths mat and some - LR ) Pick a domino, the first digit as a unit number and the second a5 a
playing cards to generate random L " Colour the star when you think you have the tenth. Then halve your number, How masy deminoes can yoe do

calculations. How many can you Ski“. Remember, \/OU ShOUId aim to answer
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answer in 30 seconds? each question in 3 seconds {try to answer 10 or ..
< ; £ )
more in 30 seconds). Your teacher will let you
know the next time there’s an assessment.
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10.6 Recall quickly multiplication facts up to 12 X1 2 | 10.7 Recall quickly division facts of all tables up to
and use them to multiply pairs of multiples of 10 and | 12 X 12 and use them to divide pairs of multiples of

”

100 _ 10 and 100. How many different calcula- —— /7

Use 3 pack of cards and some post-it tions can you think of using _
For example: notes to generate calculations For example: i ruambioe Pt et 12358 There are lots of games on websites such as
3x7=21 24:6=4 =77(eg210+7=30 Topmarks and Hit the Button. Also, try

i & i 9 | . A ) ; challenging yourself against the clock. Can
MR N=ZI0 | @ O X o 0 ‘ 0 ' st e you beat your personal best?
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4X2=8 ® 9L & 3 LA 32:8=4

50 40 X 200 = 8000 ’ 503200=80=40 |




